20224114208

(B)

5EIRR#6H 6R BAZHE

% & |8R FBAFE AE4 1030, 410, 260, 150, 1035 m’ °
: 5 % 4 =, = e BFISEBMAS 534 5 235 2 355 1 425 1 ’ }
13:55 [#35R2% 1Y SR GEA) (B EH L—25y JHaR MMM 4 HHS 2 HMM 2 HMS 2 Grant J
MR | PREK | EETES T i 35 E AR ) BAfiEth HTE=L—R%& L—T14v¥ 95X 3MTE=%EIE BEHK-EEF- A K
7B & E % B F | MBIMM LB £r o187 B 2 14000 2, 3, AABEBIEE S5{TE=IEA- 10— - BiFRE 244 EAYBF
& 26 | B 2 |ExEE/FE|m  4EuT | 2 1000m #%3F (HEL . N1y, S)EL\) BI%F 3 Fih BEHRE 29-t~4% - 3 ~46 - %3F(6~1) LY 3 FIRRL
EIEIE ARGRES WE | £ M | Z14008E (B E&  |mmE An| L—REYSFAAL - UBEROLYSFEAL > 0.5 OBERF HIE=1EBEXE2EE GEE) 1. 2. SEBOWE
£E/BE BAyX | B & |1001288| & BEFR| &S js00m B WAE 33ERT 4R SR
IEJ7 XA 7 32 ge [ %:440 440 2 0.0.0.0 | FPE1.0.0.0 zﬁ_{gﬁg 04 46 -0 3%7iR8
— % = 7 A0 - 20000 [ F 0000
A—RRTYRTA 550 0|7 oess |2=0000|F=0000 |1 17m7% 1A Kot
T[1|at|vyryooLnm Z | dmE%E INE0.0.0.0 | F7X0.0.0.0 | 440 %) ithiHik 54 BB
(FTHANAN) TR .324| HE 12370 | £20.0.0.0 | F/00.0.0.0 | 1400m FA £ 1:23.7 35.7
/-4 77-h(RFRT) [%£]] 1.0.0.0 £E10.00 | - MSS 35.1-36.1 535 (4)
HHBS 70075 ;105%:150150 £40.00.0 | 8+ 0000|7404 ¥(-0.2) FKEXE
L v 2 [BRZ 0001 | FEE01.0.1 |22 11.05 04 WMMOBRA1 | 22.09.17_99 W58 m3 | 22.08.20 41 Tom4/N@3 | 22.07.10 45 T 3/hA4
HAVURIILY N\EE | 5 H4-122 RZ0.000 |F 0000 | T7oET GIII | =X £5S 99 17y | RESF| e
54.0 .449| Fr 54-54 £20.1.00 [ F=1.1.00 | 6 1258 3% 4A 2 1088 2% 4N W 1 1028 4%& 1A 2 1488 4F 1A
2|0 | FvoFrno—x B | BAEE | RR 12190 | MZ1.1.0.0 | F50.0.0.0 | 426 +8 IFFK 54 ©O| 418 +4 JIIEF 54 OB | 414 -8 JIEF 54 @B | 422 ) §@% 54 DO
(FA4—=TL289 1) FH 2000 £ 1206 | F 0.0.0.0 | F/00.0.0.0 | 1400m FA B 1:21.9 35.2 | 1400m A B 1:20.6 34.4 | 1200m B E 1:08.1 34.4 | 1200m ZA R 1:09.7 34.4
= 45 CRSTRT) %1 1.201 [ 20001 [2%1201 ] -® ----- MMM 34.5-35.0 443 (7) [ MMH 34.5-34.4 444 (3) | MWM 33.4-34.7 534 (1) | SSM 34.8-34.7 434 (2)
() 7474351y 1447. 45 ;LO%Z%I;EO £40.0.00 | $1:80000]|Yr-5(0.6) HEBE | 7037 0-4(0.2) ERE | 719852(-0.1) Sk | 7037 0-4(0.2) SEE
O—FA307 #2 ‘rtg = ; 442 442 fR:Z0.0.0.0 | FPE0.0.0.0 [22.09.10 44 {0551
kS Re & 442~ W 0.0.00 | F 0000
AX—bVzAF 54.0 .256| FF 50-50 | £Z1.0.0.0 | F=0.000 |1 83 5% 1A
3| a2l x=—bLA7— B | xamgs INZ0.000 | F/K1.0.00 | 442 5 SHE 50 22
(F4—FA289 1) E® 24 EF0.0.00 [ F/00.0.0.0 | 1600m FA #1:37.7 34.2
14" 77-h (R THED) [%1] 1.0.0.0 LEN10.00 [ e SMM 38.0-34.3 544 (1)
pIIL S 70075 | 0412080 | £40.0.0.0 | #mi 000 0 | $-7yPYvh’ (0.1) HkE
Fr/ 559 T2 | 64 ©: : :: |BRZ01.00 | FME0.1.0.0 |22 10.10_64 Wum4fR##3 | 22.00.04 88 T0l4/N A8 | 22.08.13 55 T 4/NAT
Aq2 e HMEAZ= | B 424-426 | ®Z 0000 |F 0000 | YAESE 41805 | INE 2% S GITI =3
~3 54.0 .148| Fr 54-54 220000 | F=1.0.0.1 | 2 688 5% 1A 8 1388 4% 5A 1 14EE1RE A 5
dlo|r1vamsvs BEE | FHEE | R 1233Q | 1 1.0.0.1 [ FX0.0.0.0 | 426 +2 FIEE 54 @D | 424 0 FAE 54 Q@ | 424 #) fME 54 DD
(N=Y9354) Z 122 BEA§ 1233@ | i 0.0.0.0 | F/00.0.0.0 | 1400m ZA #§1:23.3 34.7 | 1200m B £ 1:08.9 35.5 | 1200m A £ 1:08.6 34.3
= B 45 CRSATRT) [%1] 1.1.0.1 [ 20100 | 21100 |-+ @- | SSH 36.0-34.3 533 (3) | MMM 33.2-34.9 543 (9) | MSM 34.3-34.3 534 (1)
AT 1113.87 | 312120580 | £470.0.0.0 | 58 00 0 0| 47435-h1 (0. 5) ko oyhy7 55(0.8) BB | zy/awh4(-1.0) BksEE
AT 4—X 42 [ 50 A: - |BRZ21.000 | FEE1.0.0.0 |22 10.10 47 T ABR7@3
R—IN—=TF ) RAME | B 452452 [ X2 0.0.00 | F 0000 | FHE
55.0 .240( fr 55-55 £20.000 [ F=0000 |1 1288 3% S5A
5(5(a |5 vsuFa7 HE | REFEA | RE 12220 | 182 0.0.0.0 | F750.0.0.0 | 452 #) $RH#B 55 B@
(N—ErSrv—) FHE 199| BRE 12220 | £21.0.0.0 | F/00.0.0.0 | 1400m A F1:22.2 35.2
14" v77-h (R THED) [%]] 1.0.0.0 [ 1.0.00 | £%1.000 | -----®--[ MM 34.8-35.5 444 (2)
=RIEH 7005 K0S 1320580 | £470.0.0.0 | 58 00 0 0 | IRELK 5-1(-0.2) %EFE%
PR 32 1400miE 4+ 55 Rl ($ETHIRT : 2020. 11.18~2022. 11.17) ERTE BER 3 HE MR
;302 HERS 17/ 2% 3F @5 BE i %k %ﬁi) 12 3 45 6 7 8
1 93 12 6 4 N 0.129 0.194 (3%ME) 22 23 26 16 17 11 19 15
2 50 8 5 5 3 0.160 0.260 * _G_x?@@_@_
3 59 7 2 9 4 0.119 0.153 7 FESV T/ 2L RAIE
4 45 5 4 6 30 0111 0.200 f BOE: 34TM 5T (534,544) 4 wownr
5 51 5 2 4 40 0.098 0137 T o (1.9 M SFAIE L (434, 445) 3 ek
6 26 4 3 316 0.154 0.269 q, % #: 35.2 M FLY (255,355) 2 %x
7 mw: J 42 3 7 0 & 0.071 0.238 = BAL:1:21.8 SBUGAR (335, 245) 1 *
8 L—=5—vvF 47 3 4 1 39 0.064 0149  _______
9 UATA—R 23 3 3 3 14 0.130 0.261 ®
10 IEI7HRAT 36 2 4 2 28 0.056 0.167 5
" . BLEHTH. YUADRKEHL, HERH, BFEEGLE, TR TERERTOHEREBALTTS,
20224118208 (B) SER#A6E 8R MEAKE ¥ S5R2Z 1HISR (BR) (FE) K 140m 2 -5 AN DOER, ERELLET.




